AURORA MOUNTS

PRO MOUNTING SOLUTIONS
INSTALLATION GUIDE

AEN-55-W

COMPONENT CHECKLIST

PRODUCT DIMENSIONS

770mm [30.3"]

700mm [27.6"]

75mm [3.0"]Min~ 95mm [3.7"]Max

430mm [16.9"]

@8.2mm|{0.3"]
0]

F 504mm [19.8"] ﬂ

9 9
80| 0
= B=— == == =
éﬁ_ﬂ“

1227mm [48.3"]
1297mm [51.1"]

A1 A2 | A3 | A4 A5 A6 A7 . &
MBX15 | M6X20 | M8X15 | M8X20 |@16x@8.2x1.5| M6 | @16x36.2x1.5 E: "
) P
X4 X4 | X4 | X4 X4 X4 X8 (R A
B1 [ B2 | B3 |B4 B5 B6 o
@13x@8.2x5.0| Lag bolt [316x@8.2x1.5| Anchor 4mm M6 M6x25 ;; E;
o 7o Pl e Y c
X14 | x5 | x5 X1 | X1 | x4| x4 X1

INSTALLATION INSTRUCTION

Portrait (A)

Take Off




The spacers to make
extra Ventilation when
mounted on the Wall

2" (68 mm) 3/8"

Optional installation

HﬂlﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂlﬂlﬂﬂﬂﬂﬂﬂﬂHﬁﬂﬂ

Oo
V'
K
o
£
0
0
0
, )
o A7 A1/A3 ﬁﬁ 00
0 0
0 0o
& 0°
L




Philips TV

A7 A1/A3

Landscape (B)

extra Ventilation when
mounted on the Wall




® GTV
2 A7
6o A2/A4
B
o TR
0l < o
0
S

Philips TV

AUROR/\ Any content of this document or any artwork contained within this document should not be modified or reproduced without the written consent of Aurora Mounts.

MOUNTS visit auroramounts.com.au for product and warranty information. Contact us at info@auroramounts.com.au for questions or comments.

L, A
auroramounts.com.au 4 Please Recycle g&



